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Evislence Umaq\mess

(omsider x= X% 5 xle)=o ( K* > QW)

amal\/h'call” solvabe :

Nz ﬂm&\o‘;
%l%:,x of Voriades %’J;u +¢

M -1
= J’x’d/xz‘t +tCc = x2 -tie
i
3

%
> X - {'+C > 9(7/;: Z-.(hc)
s 3

= X - [% ({m]g”

. 5/
il\\/o)‘i MY\\QQ CB\;AI'\\OV) . Kldzo —» 0= C >C=0

o | - (?ze)ﬂ 5 4 solufors.

Bul : x o B oll dwe (s dlss a sl

L8
x (&) = @%)

¥ =2
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Pl\ase Porém;’r 4 = £ : L0 = ,x.“/s

Lineaaned s%ab"hb amo.\\lsh @ the fued F‘t X<=o

_ M P W A
= x? = €= 2x" - 3 5%

K<)
I 7very’ wnghable

o] > X

ES('\S‘LCA‘\CQ g u,w?wvvess -“VV): C&hgdﬁ /;2 ='F(?<) 5 ’X(‘O‘ = Xe

If £ and £ are nbinusus fnchens
=5 3 soladom (3l There exist 1 sohw)
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;@Ci: Evem )f the solufion exists, d cloes _n,oi' mean that 1+ exisls
fo alll time !

ewmlc.; Cows“du =) 5 )= 0 €lne) iz 44 x?

Ma\,kC‘J sdutien d”‘:'h'i(" "—"f.i'& -ldt + ¢
- a Wt

= éQIn.'(X) = t +c¢
= xt)= tom(t+ )

Tnvoke initad condiher: xle)y =6 = o= ém.(o»c)

= Jap.c -0 <> C:-o

0o (ﬁ&); tant

(0

In Finite Lime (1‘= %)
the Jynamies “blow uf‘ /
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Po bembialls
Make Hhe “bucket” amal)og Y maflveé'ca/y precise.
C@nfldUL /Q = - 3 ’X/o): X ( ’F(')(): -9()
AL

—> X

£i5)=-ne

/ -
> X

ﬁ(x) >o ﬁ[v’? =° AV _ _£63
V o >o
< A dx
%=
AV(® - o
X

Let wW Lbe o tragcmy (soldimm) Fu Rl\= Plxw) 3 xio)-%

Aside : what does “ cvalusde V odovg o trajechty ¢

Vs a funchen % X: it takes a number |o sp’ﬂ' omother numbe V>

be evabuoded ol X&) fr ol me —v V(xw)
Buy ¥ o T i S coluion of ’;((‘L’)=‘F('X“))3(’X/a)='xe.

:x(’c\/\
k) § .
P —
>t
\](’X“'D\ \ \/(’X(t)) (s Q finchon
V2 () | SN / o} time
Vixtt)l - - - - ‘ S,
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Fact: The vale o V evaluked almg the Hroyeotey

decrenses in time
(ie. ball goes a(ow'b

Recamse : dV(xw) - .\) P —flx) <o

“6b0

Exomples o  Lindimg potentials

E»(awp\e_’\: XK= - VOO - - £ = \/(M;vff(fx &+ C
dne

V(x) = j—’Xo\oc 4+C = ’,’%L‘rc

c:=2 AV @
O\

_EYa/m,ole ; K= X - £l = x - x*

Vv -~ = =—| £ )
\ﬁfm fo| = V== [$63dx 427
- - [l Yo = -2 s
V(x)wsw\v

/ /

¥ &

;] _— “ double el potorcbel”
<halle 7 bigtable
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